He is
Answer:

Bl

than his younger brother.

This book is
Answer:

than the one | read last week.

She is
Answer:

of the two sisters.

My car is
Answer:

than yours.

They have
Answer:

money than we do.

The weather is
Answer:

today than it was yesterday.

This movie is

Answer:

than the one we watched yesterday.

He is
Answer:

at playing the piano than his sister.

She is
Answer:

at swimming than her classmates.

Il am

Answer:

in math than in science.




Answers

He is than his younger brother.
Answer: older

This book is than the one | read last week.
Answer: better

She is of the two sisters.
Answer: the eldest

My car is than yours.
Answer: faster

They have money than we do.
Answer: less

The weather is today than it was yesterday.
Answer: warmer

This movie is than the one we watched yesterday.

Answer: more interesting

He is at playing the piano than his sister.
Answer: better

She is at swimming than her classmates.

Answer: better

I am in math than in science.

Answer: better



